MATH 2310 Practice Test 1
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2. Compute the derivative using the definition of the derivative

(a) f(z)=3z+5atz=—-1

(b) f(z)=2%at z =
(c) f(z) =2"

(d) f(x)=bx+1
(e) flx) =V

(f) flz) =3

3. Compute the derivative from the formulae.

(a) f(x) =3z + 5y/x — sin(z)

(b) f(x) =5cos(z) — 41In(x) + sin(zx)
() fa)=1- &

(d) f(x) = 22

(0) fla) = B2

(f) f(z) = 2522

4. Compute the derivative from the formulae and use product rule and
the power rule.

(a) f(z)=5yxzsin(x)
(b) f(x) = 5cos(z)sin(x)
(c) f(z) =4In(z)cos(x)
(d) f(z)=In(z)

(e) f(x) = (In(z) + 7z)’
(f) fz)= (39€+2)

(g) f(z) = (32° +2)

(h) f(z) = V3z% 42

(i) flz)=(z- )4(393+2)3
(3) flx) =e"(1+e")?
(k) flz) = (Sln(ﬂf))’1

(1) f(z) = (cos(z))~"!



